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(c).Consider the relation Course. Give SQL

commands to :

(i) Add a new attribute Course Coodinator
having data type VARCHAR (20) to the

relation Course.

(i) Delete the relation Course. “)

(d) An organization keeps the information about its
employees. Every employee has the following
attributes Emp_No(unique), Emp_Name,
Date._of Joining, Salary and derived
attribute Current_Experience. Draw an entity
diagram for the employee entity: Employee.

_ (3)

(e) Differentiate between composite attributes and
composite key in a database with a suitable

example. @)

(f) Consider the following relations :

) Student Course

Rollno | Name CourseCode | [ CourseCode | CourseInfo

1 Babli Cl Cl M.A.

2 Daksh C2 Ca M.Com.

3 Manu Cc2 Cs M.Sc.

4 Anyj Cl

5 Kamal . | C3 J

Perform right outer join on the above

relations. ?3)

|

|

| i . : :
| ‘
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(g) Give a situation where it would be appropriate to
use IS NULL operator. (2)
(h) Books
Accession No Title Author Price
DBMS '
1001 Amnun 550
Concepts
Computer .
1002 Brijesh 350
Fundamentals
1003 Multimedia Kavita 150
1004 IT Concepts Brijesh 200

2.

\

Using the above table, give the output that will be
produced on execution of the following SQL

commands :

(i) SELECT COUNT(*)
FROM Books;

(ii)) SELECT Author, SUM(Price)
FROM Books
GROUP BY Author; (4)

(a) Describe any three advantages and any three
disadvantages of using DBMS. (6)

P.T.O.
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(b) Differentiate between single user and multiuser 4. (a) What do you mean by referential integrity ruié?

databases. “) Consider the following tables :

. ) o . Employee (EmpCode, Emp Name, Emp_Salary,
3. A university maintains the following database : - -
DeptCode)

o Info, Princi p a '
College Info incipal, Professor and Department (DeptCode, Dept Desc)

Student
) Identify a suitable referential integrity constraint
Entity | Attribute , for the above pair of tables. Also, justify your
College Info ClgId, Clg _Name, Address, Prid,
PId, Date_of Establshment answer. ‘ (6)
Principal PrId, Date of Joining
(b) Describe the following DBMS functions (any
Professor PId, P Name, P_Address, P Age, _ ¢ d two) :
P Salary
Student StudID, Stud Name, ClgId ’ (i) Data dictionary management

(i) Data transformation and presentation

Construct an ER diagram incorporating the following (iii) Database communication interfaces (4)

business rules :

(i) A university comprises of several colleges. 3. Consider the following tables :

Order (Orderld, PId, Purchase Date,

(i) Each college has a Principal.

(iii) A college has many profeésors but a professor

can serve in one college only.

BER

(iv) Each college has many students but each student -

is admitted to only one college. (10)

Quantity)

Product(PId, P _Desc, Price, Color)
Write SQL queries for the following :

(i) Display all orders where product Price is
between 500 and 1000.

P.T.O.
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(ii) Displayrthe pId of products whose Cclor is
“vellow”.

(ili) Increase the Quantity corresponding to each
PId in each order by 10 units.

(iv) Delete all orders where Purchase Date is
before 4/4/2017.

(v) Display the P Desc of the product which has

minimum price. (10)

6. (a) Give any three advantages and three disadvantages

of the hierarchical model. ©)

(b) Differentiate between data and information. Can
the same fact may be considered data as well as
information depending on situation? Illustrate with

the help of an example. 4)

7. (a) What is normalization? Consider the following table

PURCHASE:

Cust_1Id, Store_Id) Store_Loc,

Qty Purchase

Following are the functional dependencies for the

above table :

7

Cusc. Id, Store Id 2 .ty Purchase
Store Id 2 Store Loc

Convert the above table into the tables in the

second normal form and identify the primary key

-in each of the resulting tables. 6)

(b) Give an example of a table having four rows and

illustrate the notion of deletion anomaly in the

context of the table given by you. @)

8. Consider the following relation instances R1 and

R2 corresponding to a relational scheme R.

Relation R1 Relation R2

S Code | § Name | Sport
_ _ S _Code | S _Name | Sport
S1 Abhinav | Football _

S5 Bala Tennis
S2 Dinesh | Cricket

St Abhinav | Football
S3 Jagat Football . _

- S4 Maanvi | Swimming

S4 Maanvi | Swimmin _

S2 Dinesh ['Cricket

Find the result of carrying out the following operations :

(i) R1 INTERSECT R2

(i) RI UNION R2

P.T.O.
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(iii)
@iv)
w

8

R2 PROJECT(S Name)
R1 DIFFERENCE R2 ;

From the Relation R1
SELECT Sport is equal to “FOOTBALL"”
(10)

-

[ [

»
£

(1000)
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1.

{c] Angwerany five fuestians.

ﬁ&ﬂﬂnﬂ%mﬂa%_

(g} ANl guestipns carry egual marks.

At Ge & @ FA 21
for VH candidates.
qhetEE & i 4

(e) Some guestons are only
anapoly 7 Using suitable diagran
petition

15

What is M
compar: a fum pperating in perfect com

& monopaly. )
m.qw,wﬁqﬁ; ? TG et < T & I

For VH (g @iga @ B

Differenbaie betwedn periectly and imperfectly
compentve market. Why monopoly ghould be

pestricted 7

o s e gl ST AT B H SR

%@w,%ﬂmﬁﬂﬁi%m

H.

9532

. What are the basic [eatures of manopolistic

competition ? Using suitable diagrams explain

the determination ef price and output in this

market during short run and long run. 15

SEEH LTl A T O S e v

R BIG O FerE  ier su |

For VH (gfte aife & Rng)

What is monopoelistic competition ? Explain the

concept of e¢conomic elficiency and resource

allocations,

e sfamfier i & e Hae od

T SATe=e 5 ST ) S FE

{a) The payofl matrix given below, shows the
payolls to twa firms, A and B based on their

strategied,
=T afvens e, 1 el A e s
5 agrary uv ofee aat w8 &
3 Firm B
w B
Firm A Advertise | Do not Advertise
W A fasras T | fasnes W &k
Advertise (5.5) (20,2]
De Not Advertise | (2,20) (15,15)
T TR

B PT.O.
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(i) Determine the dominant Strategy

. for
Firm A and Firm B,

. 4
FHATE B & qury HETTAT 7y Aty 7
(i} Determine the Nash Equilibrivym
R s o S

&

[b) Explain the ¢ aurnot Model of oligopoly 7

mﬂ@ﬁxﬁﬂ%&wﬂﬁﬂﬁ%ﬂ_

4, gl _ i
Define oligopaly, Differentiate between colliysive
and oon-collusjve oligopoly. Explain Nash

SO i . .
Juilibrium using Prisonerg’ dilemmag

. 15
w%ﬁﬁé%@&.ﬁw&ﬂﬂfﬁmﬁfw

A B AT g 2 = i

< |a) Define exXiernalities. Whar are the possible

methods 1o mternalise externalities 2 1p

mﬂﬂ% 7 = S SEAE 3 2aEny
® WA TS g & ?

B

6.

(bl

(&)
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Explain the process of market adjustment
to the increase in demand using suitable
diagram. 5
STh Y BT et Fe |

For VH (3itz aiftd & o)

What are public goods ?

HefAtres aegt = E 2
Buppose labour is the only factor of
production used by a perfectly competitive

firm. The firm’s production function is as

follows «

oy it e gl wiira W S & e B
et W T AR T T S
user fov e T

Units of Labour | Units of Output
o9 ) geRigdl | Sored W gyl

¢ 8]

1 22

2 35

5 50

4 60

o (551

{7 79

7 72

= P.T.O.
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[1) Calculate the margnal product for each
additional warker. 3
Teeish SATHTITE T B T Se0E S Hier |

[i1) 1 each unit of putput sells for T20, caleulate
the value of marginal product for each
worker. 3
o wers SerE 20 ¥ UT 3= A & A g
= % G Sars gEn @t T it |

[i1i] Howmany workers should the firm employ
if the wages are ¥ 170 per worker 7 3
& il ey it Wi T 9T S i
af% wagdt 170 T afg 5wz § ?

(b) Explain the concept of market failure. 6
RN FEIEETHT & STareeT S S Fed |

7. Why two narion should trade 2? Explain the major
theories of international trade. What are the
possible barriers for trade ? 15
A T ) o] it | ST 5 aATiEe arae

| B E ?

o
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g, Write short ngtes an any tworof the following -
7.5,75

{a) lmperfect Information
(b] Price Diserimination
() Contestable market

sfread] AT
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8. Write short notes on any two of the following :

7.5,7.5
Fr=faRaa & @ fpt & u¥ dftrg feuoft it @ ¢

(a) Role of Government

. TR A i
(b) Absolute advantage
fFRTer @
(c) Cournot Model

N

I
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Attempt any five questions. wdl
g All questions carry equal marks.
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I.'" Discuss the achievements of Samudragupta on the basis of
Allahabad inscription. |
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Discuss the salient features of the administrative system of’

the Gupta dynasty.

mﬂ%&ﬂ%ﬁmﬁ%w@m&aﬂ%

Discuss the socio-economic developments during the Post-

Gupta period in North India.

SR yRd H A wE B ARA qEfes-anfdE

fawm ® faa=w wifEd

Write an essay on ‘Harsha’s achievements,

.ﬁ%ﬁﬂgﬂﬁwﬁ%_

Examine the contribution of the Pallavas in the field of art

and architecture.

Sl A T B & # Teer] B AEE e
i | .

6 . Write an awmuw on Tripartite - struggle between the .Qcann__‘

Pratiharas, Palas and Rashtrakutas,

ToR-sfiER, T ol T B w g Proafe e

wR = fEg fafew

10.

" Qutline the main features of Chola administration with special

¢ 39 o

reference .8 the w,a._i_.%:,m:c: at the village level.

T wE v @ e = § A e )
qer el W Yaifea wf

Explain the nia«mnaom of the Rajputs during the early medieval

period.

o mor § T ® ww W swen #ifm

What were the causes for Arab invasion on Sindh ? Discuss
its impact.
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aci—n. short. notes ..os any two o.m. the following: :

(@) ~Gupta art

(3 Nalanda

. (¢} Chalukyas

(@) Science and technology
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Instructions for Candidates
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of this question paper.

2. All questions are compulsory.

3. Attempt any two parts from each question.

1. (a) Show that the set. W ={(q,,4,,0):q,,a,€R} is a
subspace of the vector space R3(R).

(b) Show that the vectors {(1,1,~1), (2,-3,5), (-2,1,4)}
in R3(R) are linearly independent.

(c) Let {a,b,c} be a basis for R*(R). Show that the
set {a+b, b+c, ct+a} is also a basis of R*(R).
(2x6=12)

P.T.O.
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2. (a) Using elementary transformations find rank of the

matrix

P
LV I
B =
L

(b) Solve the following system of equations :
x-y+2z=4
Ix+y+4z=6
x+y+z=1

(c) Find the characteristic roots and the characteristic
vectors for the matrix

(2x6%=13)

Y
]
c o -
S NoW
DWW

(a) Prove that 128s5in20c0s%0 = —cos80 — 4co0s68 —
4co0s40 + 4co0828 + 5,

(b) Solve the equation x* -5x> + 10x2 — 10x + 4 = 0,
given that the product of two of its roots is equal
to the product of other two roots.

3199 3

4.

(c) Let a, B, v be the roots of the equation x* + qx —
r=0. Find the values of ;

Mh..”u\ and MQN .

o

(2x6=12)

(a) Solve the equation z* — 2 + 22 — z + 1 = 0 using
De Moivre’s theorem.

(b) If a, B, y are the roots of x* + px2 + qx + p = 0,
prove that tan™! o + tan™'  + tan! y = nn radians,
except in one particular case.

{c) Find the sum of the series

h.m

sina +esin(e + B) +mm§a +28)+...+®
. (2x6%=13)
(a) Show that the set of positive rational numbers Q*
forms an abelian group under the operation ‘*’

defined by: a*b = ab/2. Also, write the inverse of
¥4 with respect to this operation.

(b) Draw the diagram associated with the permutation

1234567859
581637 2409)

(c) Show that inverse of each element in a group is
unique. (2x6=12)

P.T.O.
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6. (a) Let G be a group and H be a non-empty subset
of G. Then show that the set H is a subgroup of
G if and only if ab™' € H for all a,be H.

(b) Show that under the usual operations of matrix
addition and multiplication, the set

M:{[a b} ca,b,c,d EZ} is a ring.
: c d)

(¢) With proper justification, give an example of a
subring of (Z,+,*). (2x6%=13)

(1000)
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3. All questions carry equal marks.
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but the same medium should be used throughout the
paper.
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2

Discuss the Gandhian perspective of Indian State.

el T W A gRest ) R AR )

Discuss the comparison between the Fundamental

Rights and the Directive Principles of State Policy.

Hferr R T asa B Ay Fdwe 9@ B e geoE
Ioma & faaer Fifiw

Analyze the power and role of the Prime Minister in
Indian polity.
WA Todeaed ¥ paEEaS @ s aw e &
frewr $ifsw |

Discuss the role of Judiciary in the context of Judicial

Activism in India.

fiw affam @ ded § awfera &t i & e
e |

- What is politicization of caste? How has it affected

the Indian politics?

9541

3

e et & fade Ak | @ sl T @@t
fre war wafag fam 2 7

Write an essay on the Debates of Communalism in

India.

TR ¥ Iedehar & dafta are- et w o fofdaw

Analyze the role of New Economic Policy in

development strategy of India.

o frEm & ol § 7 s AR @t sl @
fageromr ifo

Write short notes on Any Two of the following :
fffae % @ el @ w ftra Rowit foRae

(a) Sustainable Development
LG GREETCE
(b) Women’s Movements

wfeen S

P.T.O.
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(¢) Basic Structure Doctrine
U e & f&ard
(d) Role of Regional Parties
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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt
of this question paper.

2. Attempt Any Four questions.
3. All questions carry equal marks.

4. Answers may be written either in English or Hindi;
but the same medium should be used throughout the
paper.

Al & fog fdw

1 39 -9 B fiee & 3w Ry w FuifRe = w awn
FpFma ferfEe |
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=8 =R v & IR ARm
Tt vl B FE T E

TH W - 99 &1 I 3o @1 B et oo wow A S, of=
T IR T AL TS & BT AR )

Examine the Marxist perspective of Indian State.

YRAIE TG & WEEEe gfeaor # qdeer i )

Analyze the relationship between the Fundamental
Rights and the Directive Principles of State Policy.

A AR T o SR PAiTe TE @ wE W
fazewn e

Discuss the changing nature of Parliament,

WREE WO S qeo §F Wg w1 fEReer @i

Critically analyze the Powers of Supreme Court of
India with special reference to Judicial Review in
India.

A ¥ e wien @ P ¥t ¥ qda =mea
T #ir e e |

9562 3

5.

How does Patriarchy influence Indian politics being

an important factor of power structure,

e 9@ F 7= RF D W ¥ Rgen Fw ver W
Torle W g & 2

Write an essay on the debates of secularism in

India.

zﬂ~&4&¥9§=wmm@mmanmﬂaa~ﬂﬂwﬁ4gﬁa_

Analyze the major trends of Indian party system.

WA T waen @ qed gl i favewe i o

Write short notes on Any Two of the following :
frfofa ¥ @ feedt @t w St ot forfdw -
(a) Environment Movements

- YA SR

(b) New Social Movements

w9 A e

P.T.O.
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(¢) Coalition Politics.
(d) Role of Trade Unions ,
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‘Social Psychology seeks to uriderstand’ the anses of social
béhaviour and oomaﬁom * ‘Discitss ‘mm_:._m suitable .mx.mi.v_mw 15

.%iﬂmﬁ@ﬁﬂmﬂ%ﬁ%w.

Frol @ wwEm Tw ﬁmﬁﬂﬂ& % Wy

What is persuasion ? Discuss the .nm.m.:.:?n processes

‘underlying: persuasion irf detail e 510
TR % ? wNeT WSt ¥ T B
T} A fawmr § == Fifsw)

Or/ LA

Define attribution. Discuss Kelley’s Theory of attribution in

_ detail. it _ : 5,10

qﬂﬂ&%ﬁ@m%.&%%%@ﬂ%_,

fagmr & o 4 fommr @ == s

~ With the use om nn_nﬁa examples, elaborate on the factors

Eaﬁsn_sw interpersonal attraction. > 15

ﬂﬂmﬂ%&%ﬁ%%g sﬂnﬂﬁ_ﬁﬁ
.&Eﬁ%%ﬂﬂﬂ@%@ﬂﬂﬁe

“ R THa IR L o B

.r
=y

=

(FF - )
Orf2TAT e fwre ...."“Tmm, 1

What is the nature of aggression *? Discuss®the general
aggression model (GAM) to understand -aggression in

detail. _ R L )

= ®IST

Ll

What are the basic Teatures of a group ? Briefly discuss the

causes of group polarization. 7.5,7.5

faet wpE =+t gu fdeand =0 ¥ 2 9gE g
F BRO W HAY § == wifwgy

Or/3verET
Describe the factors that impact the aifectivagess cof group
decision making process. Shasy o 15
g folr &9 &ty =t aveRiem #t g
FH T FREH B FUT WA

PTO.
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ﬁ%iﬂﬂﬂﬂmﬂd%ﬂ_ﬁg%
foafa @ @ ¥ wefs Rrwl 3 weg @ =

FIT FORIGU R
s e _Qﬂ._@ﬁﬁ_. REREIE B T PO

U_mwmzmm,. &rmhnmﬁmmm&.nwmowom,. Social vwwnro._.owx. a5 &' field.

_ Highlight the application of social psychology in various

s

Careas. i ; (1 E, 18

TF 8 % T H e wHifem $ S W

o wifg) fafiE & d wmfee wAteE B

M W yEw e

2. .- ‘Diseuss the nature of attitudes. Discuss the learning approach

1T 0 of attitude formation. Tk oo ooTe G 7513

%%aaaﬁﬂ%_%%%%
Wa # ghewm w e F
ﬁ?ﬁ%ﬁ@nﬂ?

What is attributiori ? mxudm_n. various biases and errors involved

Sedcdin attribation  processi - sk e 0wt T 5,10

R R g g Mg -

8
=

LR
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“3""  Discuss various external determinants of aggression in detail.. 15
- smEmea & fafs d fuiel W fem & ==t
HIfT |

| Qﬁnﬁ

What wm _u«omooma vormio:.. ? Discuss the theoretical under-

,.uE:Emu of. v_.omon_m_ _vn_.nso:_. ! 510

ﬂmﬁnﬁﬂﬂﬁzﬁwu%%%ﬂ%
U W =9 HwfWg)

Define a ‘group’. Elaborate with examples, the cost and benefits

“of joining groups. S _ 510

@ gy W ufowfie @it @ d w9
ﬂﬂﬂm%%%ﬁaﬁ%%wﬂdﬂ?ﬂ
Or/ 3T

Evaluate % i YAt Groul- Cofetdon a0l
conflict. 15
a Edn G g W yufm W TR wE
£l ﬂpﬂﬂaﬂ_ Hifeg | ,

pto.
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Note :— Answers may be written either in English or in Hindi;
but the same medium should be used throughout the
paper. '
feuult .39 weA-T F1 W ST A o<t fnelt TH W
% difwy; dfeT @i ST = wem T @ e
=fe o
_ Answer any fdur.qi.nestions. '
All questions carry equal marks.
ol o) v @ s Afsw
oty @ o wEE ¥

I. How is unity India attained despite the various factors of

plurality ? ) _
sgadl & faf= wREl # FESg YR THA R RD
HEY @l § ?

PTO.
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Do you think the features of the caste system are based on the

twin principles of hierarchy and separation ? Discuss.

1 39 foaR #a € & sfa saeen #it faivand ueres
A YRR F fg-r fagia w enerf@ ¥ 2 oo
HITST | : .

Discuss the problems of .integration of tribes with the wider
society..

SESIGEl ® gee WA 9 UhieU H1 GEEE @l
fod=d ®ItST |

Who are the Dalits ? "Examine the significance of a Dalit
movement in the creation of a Dalit identity.

e wM & 7 <fra wewH @ e A ofe stieer
F Hed H TUHI FHISC |

Discuss the major features of kinship organization in the different
zones of India. '

yRa & fafe= &3 | TR et &y Tt
a1 farem W |

Trace the rise and growth of communalism in India.

wRA # WyiaRdr ® UM a0 fawm B wRer T
HIfT '
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